
 

  

  

  

  

  

  

 

 

 

 

 

 

 

 

 

 

 

 
 

 

1



 

• 

• 

• 

• 

 

 

  

 

 

 

 

• 

•  

 

 

• 

 

 

 

 

 

 

 

  

2



The following scenarios demonstrate how compensation would be calculated in the event of a 
deposit taker failure.

Candice (single account)

Candice has $2,500 in a transaction account with  
Bank A.

Candice has no other accounts with Bank A or any  
other deposit takers.

Candice would be compensated $2,500 if Bank A 
were to fail.

Tui (two accounts)

Tui has $500 in a transaction account with Bank B. 

Tui has $3,000 in a term deposit with Bank B. 

Tui would be compensated $3,500 if Bank B were to fail. 

*Calculation: $500 + $3,000 = $3,500
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Rawhiri (sole trader)

Rawhiri is a small business owner (the business is not 
incorporated as a company) who keeps $10,000 in a 
business transaction account at Credit Union C. 
 
Rawhiri also keeps $5,000 in a personal savings 
account at Credit Union C.

Rawhiri would be compensated $15,000 if  
Credit Union C were to fail.

*Calculation: $10,000 + $5,000 = $15,000 
 
 
 
 
 
 

Rashmi & Aiden (individual and joint accounts)

Rashmi has $550 in a transaction account with  
Building Society B. 

 
Aiden has $8,000 in a savings account with  
Building Society B.

Rashmi & Aiden have $20,000 in a joint savings 
account with Building Society B.

Rashmi would be compensated $10,550 if Building 
Society B were to fail.

*Calculation: $550 + ($20,000/2) = $10,550 

Aiden would be compensated $18,000 if Building 
Society B were to fail.

*Calculation: $8,000 + ($20,000/2) = $18,000
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